
If each donut costs $3. How
much do 8 donuts cost?

Nick had $10.00. He bought a
pair of socks for $3.30 and a
hat for $4.50. How much money
did he have left?

Jenna had $ 23.The cost a box of
pencil is $ 1.25 and a box of
markers is $ 3.25. If she wants
to buy 5 boxes of pencils and 3
boxes of markers, how much
change will she get back?

Tickets to zoo is : adults: $3.50
kids: $1.50. 
There are 7 adults and 12 kids.
How much money is needed to
buy tickets for all?

Name: 

Solve the word problems given below.

 Currency


